Can I understand and apply place value up to 1 million (1000000)?

A) [image: image1.wmf]Write these numbers in words:

1) 4567

2) 34289

3) 457329

4) 1657389

5) 3246781

B) Write these amounts in digits:

1) Two thousand and thirty four
2) Twelve thousand, two hundred and eight
3) One hundred and twelve thousand, six hundred and forty five.
4) Seven million thirty four thousand and seven  

5) six million, seven hundred and twenty two thousand, four hundred and three.

c) What is the value of the digit that is underlined?

1) 4567

2) 34289

3) 457329

4) 1657389

5) 3246781

Extension:  Try using place value to alter the following amounts:
1) decrease 194753 by two thousand

2) increase 2384598 by six million

3) decrease 9809821 by sixty thousand

4) increase 2049342 by three hundred thousand

Can I understand and apply place value up to 1 million and 2dp?

A)Write these numbers in words:

1) 4567.5

2) 34289.43

3) 457329.3

4) 1657389.32

5) 3246781.32

B) Write these amounts in digits:

1) Two thousand and thirty four point seven

2) Twelve thousand, two hundred and eight point six, seven

3) One hundred and twelve thousand, six hundred and forty five point nine, five.

4) Seven million thirty four thousand and seven tenths

5) six million, seven hundred and twenty two thousand, four hundred and three point zero, two.
c) What is the value of the digit that is underlined?

1) 45.67

2) 342.89

3) 45732.93

4) 16573.89
5) 32467.81

Extension:  Try using place value to alter the following amounts:

1) decrease 194753 by two thousand

2) increase 2384598 by six million

3) decrease 9809821 by sixty thousand

4) increase 2049342 by three hundred thousand

5) increase 43271.53 by six hundredths

6) decrease 4326.78 by four tenths.

Can I understand and apply place value up to 1 million and 3dp?

A) Write these numbers in words:

1) 4567.5

2) 34289.43

3) 457329.343
4) 1657389.322
5) 3246781.321
B) Write these amounts in digits:

1) Two thousand and thirty four point seven, six
2) Twelve thousand, two hundred and eight point six, seven, nine
3) One hundred and twelve thousand, six hundred and forty five point nine, five.

4) Seven million thirty four thousand and seven tenths, four hundredths.
5) six million, seven hundred and twenty two thousand, four hundred and three point zero, two, five
C) What is the value of the digit that is underlined?

1) 45.67

2) 342.893
3) 45732.934
4) 16573.894
5) 32467.815
Extension:  Try using place value to alter the following amounts:

1) decrease 194753 by two thousand

2) increase 2384598 by six million

3) decrease 9809821 by sixty thousand

4) increase 2049342 by three hundred thousand

5) increase 43271.53 by six hundredths
6) decrease 4326.78 by four tenths.
7) Increase 456.323 by six tenths and six thousandths.
